
ljlzi6Ls/0f tflnsf @)*) 

sIff M %   ljifo M lj1fg tyf k|ljlw 

k"0ff{ª\s M %)  ;do M @ 306f 

b|i6Jo 

• k|Zg lgdf{0f ubf{ 1fg, af]w / k|of]u / pRr bIftf -ljZn]if0f, d"Nofª\sg / l;h{gf_ nfO{ dfly plNNflvt 

sfo{306f / cª\sef/cg';f/ agfpg'kg]{ 5 .  

• ax'j}slNks k|Zg / clt 5f]6f k|Zg ! cª\s, 5f]6f k|Zg @ cª\s / nfdf] k|Zg $ cª\ssf x'g] 5g\ . 

• ;d"xsf] hDdf cª\sef/df 36a9 ug{ kfOg] 5}g t/ ;d"xleqsf PsfOdf ±@ x''g ;Sg] u/L k|Zg agfpg

;lsg] 5 . t/ s'g} PsfOnfO{ z"Go ug{ kfOg] 5}g .  

• @ jf $ cª\ssf k|Zgsf] nflu Ps k|Zgsf] Ps pQ/ -1 mark will be assigned per element expected as 

correct response) cfpg] u/L k|Zg lgdf{0f ug'{kg]{ 5 .

• 5f]6f / nfdf k|Zg Pp6} txsf jf b'O{ jf PseGbf a9L ;+1fgfTds If]qcGtu{tsf txx¿ ;d]6\g] u/L k|Zg 

agfpg klg ;lsg] 5 . t/ ;du|df plNnlvt txsf] hDdf ef/;Fu ldNg] ug'{k5{ . 

• j:t'ut k|Zgsf] k|Zgkq 5'6\6} / ljifout k|Zgsf] k|Zgkq 5'6\6} tof/ ug'{kg]{ 5 . 

• j:t'ut k|Zgsf nflu !% ldg]6 / ljifout k|Zgsf nflu ! 3G6f $% ldg]6 /xg] 5 . 

j|m=

;= 

PsfO sfo{  

306f ;+1fgfTds tx 

;d"xut 

cª\sef/ 

PsfOut  

cª\sef/ 

1fg -#)%_ af]w -#)%_ k|of]u -#)%_

pRr bIftf 

-!)%_

!= j}1flgs l;sfO !) ax'j}slNks 

k|Zg -#×!_
clt 5f]6f=k|Zg 

-@×!_
5f]6f=k|Zg 

-#×@_
nfdf]]=k|Zg 

-!×$_

ax'j}slNks 

k|Zg -#×!_
clt 

5f]6f=k|Zg 

-@×!_
5f]6f k|Zg 

-#×@_
nfdf]]=k|Zg 

-!×$_

ax'j}slNks 

k|Zg -#×!_
clt 5f]6f 

k|Zg 

-@×!_
5f]6f k|Zg 

-#×@_ 
nfdf]]=k|Zg 

-!×$_ 

ax'j}slNks 

k|Zg -!×!_

nfdf]]=k|Zg 

-!×$_ 

!@ 

# 

@= 
;"rgf tyf ;~rf/ 

k|ljlw 
#) ( 

#= hLj / jftfj/0f !) 

!$ 

# 

$= hLjx¿sf] juL{s/0f @) ^ 

%= hLjg k|lj|mof !% % 

^= kbfy{ #) 

@$ 

!) 

&= b}lgs hLjgdf zlSt @% * 

*= k[YjL / cGtl/If @) ^ 

hDdf !^) !% !% !% % %)  %) 

;du| k|Zg of]hgf 

k|Zgsf k|sf/ k|lt k|Zg 

cª\sef/ 

k|Zg ;ª\Vof hDdf 

k|Zg 

hDdf 

cª\sef/ 

! ax'j}slNks k|Zg ! cª\s # # # ! !) !) 

@ clt 5f]6f k|Zg ! cª\s @ @ @ ^ ^ 

# 5f]6f k|Zg @  cª\s # # # ( !* 

$ nfdf]]=k|Zg $  cª\s ! ! ! ! $ !^ 

s'n ( ( ( @ @( %) 
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gd'gf k|Zg (Model Question) 

sIff M % k"0ff{ª\s M %) 

ljifo M lj1fg tyf k|ljlw ;doM @ 306f 

;a} k|Zg clgjfo{ 5g\ (Attempt all the questions) 
v08 -s_ (Section A) 

j:t'ut k|Zgx¿ -Objective Questions) 10 x1=10 

1. tnsf k|Zgsf] l7s ljsNkdf uf]nf] lrx\g (O) nufpg'xf];\ M Circle the correct alternative of 

the following questions.

a. cjnf]sgsf nflu cfjZos kg]{ d'Vo kIf s'g xf] < Which major aspect is required for observation?

i. 1fg (knowledge) ii. cg'ej (experience)  

iii. ;f]wvf]h (inquiry) iv. 1fg]Gb|Lo (sense organ) 

b. sDKo'6/sf] CPU nfO{ dfgj dl:tis;Fu t'ngf ug'{sf] d'Vo sf/0f s] xf] < What is the main reason for 

comparing CPU of computer with human brain?

i. tYofª\ssf] k|f];]l;ª ug]{ ePsfn] (as it processes the data)

ii. b'Mv JoSt ug{ ;Sg] ePsfn] as it expresses sorrow)

iii. v';L ;f6f;f6 ug{ ;Sg] ePsfn] (as it exchanges happiness)

iv. lg0f{o ug{ ;Sg] ePsfn] (as it can make the decision)

c. la?jfnfO{ vfgf agfpg s'g UofF; cfjZos k5{ < Which gas is required for preparing a food by 

plant ? 

i. gfO6«f]hg (Nitrogen) ii. clS;hg (Oxygen)

iii. xfO8«f]hg (Hydrogen) iv. sfa{g 8fOcS;fO8 (Carbon dioxide)

d. tnsf dWo] km'nsf] kf]yL k|hgg cª\u s'g xf] < Which of the following is female reproductive 

organ of flower?

i. k]6n (Petal) ii. ;]kn (Sepal)

iii. sfk]{n (Carpel) iv. :6fd]g (Stamen) 

पाठ्य
क्रम

विक
ास
केन्द्र

©।पाठ्यक्रम विकास केन्द्र ।२०८०



   A B 

e. lrqdf lbOPsf hgjf/x¿ b'j} el6{e|]6 x'g\, tL hgfj/x¿sf] af/]df tnsf dWo] s'g egfO ;xL 5 < 

Both animals given in the figure are vertebrates. Which of 

the following statements about those animals are correct?

i. hgfj/ A leleKof/; xf] eg] hgfj/ B cf]leKof/; xf] . 

(Animal A is viviparous whereas animal B is 

oviparous.)

ii. hgfj/ A kfgL / hldg b'j}df a:5 eg] hgfj/ B hldgdf a:5 . (Animal A lives on both 

water and land whereas animal B lives on land.)

iii. hLj A n] kmf]S;f]af6 ;f; km]5{ eg] hLj B n] luN;af6 ;f; km]5{ . (Animal A respires 

through lungs and animal B respires though gills.)  

iv. hLj A n] luN;af6 ;f; km]5{ eg] hLj B kmf]S;f]af6 ;f; km]5{ . (Animal A respires through 

gills whereas animal B respires through lungs.) 

f. lrqdf b]vfOP h:t} udnfdf ePsf] la?jfnfO{ kf/bz{s Knfl:6sn] 5f]kL afFw]/ s]xL 306f 3fddf /fVbf 

Knfl:6ssf] leq kfgLsf yf]kfx¿ b]lvof], eg], When the potted plant is 

covered with transparent plastic and tightened as shown in figure and 

kept in the sun for a few hours, water droplets are seen inside the plastic. 

Then, 

syg M of] k|lj|mof pT:j]bg xf] . Statement: This process is transpiration. 

ts{ 1 M la?jfn] a9L ePsf] kfgL kftsf] :6f]df6faf6 afkmsf ¿kdf kmfN5g\ .

Argument 1: Plant throws excess water in the form of vapour through stomata of leaf.

ts{ 2 M la?jfn] :jf;k|Zjf; ubf{ a9L ePsf] kfgL afkmsf ¿kdf kmfN5 .

Argument 2: Plant releases the excessive water in the form of vapor during respiration. 

i. syg / ts{ 2 ;xL t/ ts{ 1 unt (Statement and argument 2 is correct but argument 1 is 

incorrect)

ii. syg / ts{ 2 unt t/ ts{ 1 ;xL (Statement and argument 2 is incorrect but argument 1 is 

correct)

iii. syg / ts{ 1 ;xL t/ ts{ 2 unt (Statement and argument 1 is correct but argument 2 is 

incorrect)

iv. syg / ts{ 1 unt t/ ts{ 2 ;xL (Statement and argument 1 is incorrect but argument 2 

is correct)
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g. lglZrt cfotg / lglZrt cfsf/ ePsf j:t'sf s0f tnsf dWo] s'g x'g < Which of the following is 

the particles of object having fixed volume and fixed shape ? 

 

  i.    ii.   

  

 

   iii.           iv.  

 

 

h. lzIfsn] tkfO{FnfO{ g'g, t]n, /S;L / leg]u/nfO{ kfgLdf xfn]/ c;dfg ld>0f agfpg nufpg'eof] eg] tkfO{F 

tnsf dWo] s'g ld>0f agfpg'x'G5 < If the teacher asked you to mix salt, oil, alcohol and vinegar 

in water to make heterogenous mixture, which of following mixture would you make?  

i. kfgL / g'g (Water and salt)   

ii. kfgL / t]n (Water and oil) 

iii. kfgL / /S;L (Water and alcohol) 

iv. kfgL / leg]u/ (Water and vinegar)  
 

i. Ps hgf dflg;n] wfg emf/]kl5 lrqdf h:t} wfgaf6 e'; 5'6\ofof] eg] pSt sfo{df s'g egfO ;xL 

5 < After sawing a rice, a man separates husk from rice as shown in the figure. Which 

statement is true for this work? 

 

i. Y eGbf X xn'sf] ePsfn] lgkmGg] ljlw (Winnowing method since X is lighter than Y)  

ii. X eGbf Y xn'sf] ePsfn] lgkmGg] ljlw (Winnowing method since Y is lighter than X)  

    iii. X eGbf Y xn'sf] ePsfn] rfNg] ljlw (Sieving method since X is lighter  than Y)    

    iv. Y eGbf X xn'sf] ePsfn] rfNg] ljlw (Sieving method since Y is lighter than X)  

j. lrq cWoog u/L k[YjLsf] pQ/L w|'jdf j|mdzM sl/a ^ dlxgf lbg / ^ dlxgf 

/ft s'g cj:yfdf x'G5 < In which conditions would there be about 6 

months of day and 6 months of night  at the north pole of the earth 

respectively by studying the diagram ? 

 

i. j|mdzM 1 / 3 cj:yfdf (In condition 1 and 3 respectively)  

ii. j|mdzM 3 / 1 cj:yfdf (In condition 3 and 1 respectively)  

iii. j|mdzM 2 / 4 cj:yfdf (In condition 2 and 4 respectively)  

iv. j|mdzM 4 / 2 cj:yfdf (In condition 4 and 2 respectively) 
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Kflxnf] lrq  bf];|f] lrq 

 

v08 -v_ (Section B) 

clt 5f]6f] pQ/ cfpg] k|Zgx¿ . Very Short answer questions      6 × 1 = 6 
2. cfd;~rf/ eg]sf] s] xf] < What is mass communication? 

3. lrqdf rflxPsf] efu crop ug{ ;f] efunfO{ ;a}eGbf klxnf s] ug'[kb{5 <  What should be done at 

first to crop the desired part of picture? 

4. PlDkmlaof eg]sf] s] xf] < What is amphibia? 

5. PsbnLo / b'O{bnLo la?jflar s'g} Ps km/s n]Vg'xf];\ . Write a difference between monocotyledon 

and dicotyledon plant.  

6. k|lgzfn] sl:;Psf] sndsf] lasf]{ vf]Ng ;lsgg\ . ca pgn] pSt sndsf] lasf]{ ;lhn} vf]Ng s] ug'{knf{ < 

Pranisha could not open the tight lid of a pen. What should Pranisha do to open the lid of that 

pen easily? 

7. k[YjLdf dfq} hLj ;Dej x'g'sf] s'g} Ps sf/0f n]Vg'xf];\ . Life is possible only on the earth. Write a 

reason of it. 
  

v08 -u_ (Section C) 
5f]6f] pQ/ cfpg] k|Zgx¿ . Short answer questions      9 x 2 = 18 

 
8. las/sf] :s]Dofl6s lrq sf]bf{ Wofg lbg'kg]{ s'g} b'O{cf]6f s'/f n]Vg'xf];\ . Write any two points to be 

considered while drawing schematic diagram of a beaker. 

9. lbOPsf] lrq cjnf]sg u/L ;ˆ6j]o/df 6]S:6 n]V g] s'g} 

b'O{ tl/sf n]Vg'xf];\ . Observe the given picture and 

write any two methods for writing text in paint 

software. 

 

10. lbOPsf] lrq cWoog ug'{xf];\ /  tnsf] k|Zgsf] pQ/ 

n]Vg'xf];\ . Study the given picture and answer the 

following questions. 

 i. bf];|f]sf] t'ngfdf klxnf] lrqdf ePsf] pmhf{sf] k|of]unfO{ a9fjf lbg'sf] s'g} 

b'O{cf]6f sf/0f n]Vg'xf];\ .  Write any two reasons to promote energy 

used in the first picture instead of the second one. 

 

 

 

11. k/]jf h:t} p8\gsf nflu s'v'/fdf cfjZos kg]{ s'g} b'O{cf]6f cj:yf n]Vg'xf];\ . Write any two 

conditions that enable chicken to fly like a pigeon. 

12. :jkf]ifs / k/kf]ifssf] kl/efiff n]Vg'xf];\ . Define autotroph and heterotroph. 

13. æ;f; km]g{' / Zjf;k|Zjf; ug{' eg]sf] km/s km/s s'/f x'g\Æ o;sf s'g} b'O{cf]6f s/0f n]Vg'xf];\ . 

"Breathing and respiration are different things". Write any two reasons for it. 

14. UofF; kbfy{sf] s'g} b'o{ u'0f n]Vg'xf];\ .  Write any two properties of gaseous matter. 

15. bLKt / cbLKt j:t'sf Ps Pscf]6f pbfx/0f n]Vg'xf];\ . Write an example of luminous and non-

luminous object. 

16. b}lgs hLjgdf ljB'tLo pks/0fsf] k|of]u ubf{ ckgfpg'kg]{ s'g} b'O{cf]6f ;fjwfgLsf pkfo n]Vg'xf];\ . 

Write any two safety measures while using electronic devices in daily life. 
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v08 -3_ (Section D) 
nfdf] pQ/ cfpg] k|Zgx¿ . Long answer questions. 4× 4 = 16

17. dflg;n] ug]{ lj|mofsnfknfO{ sDKo'6/sf] Ogk'6, k|f];]l;ª / cfp6k'6 l8efO;;Fu pbfx/0f;lxt t'ngf 

ug'{xf];\ . Compare human activities with input, processing and output device in a computer 

with an example of each. 

18. a;f{tsf] ;dodf wf/faf6 wldnf] kfgL cfP5, To; kfgLnfO{ lzIfsn] lj1fg k|of]uzfnfdf uP/ ;kmf 

agfpg'xf];\ eGg'eof] eg] tkfO{ s'g ljlw k|of]u ug'{x'G5 < lrq;lxt j0f{g ug'{xf];\ . 

If your teacher assigned you a task of cleaning water from muddy water coming from a tap 

in the rainy season, which method would you use? Explain with a diagram. 

19. tnsf] ljB't\ kl/kysf] lrd afNgsf nflu s] ug{' knf{ lrq;lxt n]Vg'xf];\ . What 

should be done to light the bulb in given diagram? Write with a diagram.  

20.  lbOPsf k|Zgsf] pQ/ n]Vg'xf];\ . Answer the following questions. 

i. ;f}o{d08nsf] ;a}eGbf 7'nf] u|x / ;a}eGbf ;fgf] u|xsf] gfd n]Vg'xf];\ . Write 

down the name of the biggest planet and the smallest planet. 

ii. rGb|df; eg]sf] s] xf] < What is lunar month? 

iii. z'SnkIf s]nfO{ elgG5 < What is  bright-half called? 
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Answer Key and Marking Scheme 

Section A 

Key answer 

a. Key: iv 1fg]lGb|o (Sense organ)

b. Key: i. tYofª\ssf] k|f];]l;ª ug]{ ePsfn]  (due to processing the data)

c. Key: iv. sfag{ 8fOcS;fO8 (Carbon dioxide)

d. Key: iii  lkl:6n (Pistil)

e. Key: iv hLj A n] luN;af6 ;f; km]5{ eg] hLj B kmf]S;f]af6 ;f; km]5{ . (Organism   A respires

through gills whereas organism B respires through lungs.)

f Key: iii. syg / ts{ 1 ;xL t/ ts{ 2 unt (Statement and argument 1 is correct but argument 2 

is incorrect) 

g. Key: i

h. Key:  ii kfgL / t]n (Water and oil)

i. Key: ii X eGbf Y xn'sf] ePsf]n] lgkmGg] ljlw (Winnowing method since Y is lighter than X)

h. Key: ii. j|mdzM 3 / 1 cj:yfdf (In condition 3 and 1 respectively)  

Section B 

Marking scheme 

2. Ps}k6s w]/} dflg;df ;"rgfsf] k|jfx ug]{ ;~rf/ egL n]v]df cGo ldNbf] kl/efiff n]v]df  ! cª\s

3. lrqdf rflxPsf] efu crop ug{ ;f] efunfO{ ;a}eGbf klxnf ;]n]S6 ug'[{kb{5 egL n]v]df ! cª\s

4. kfgL / hldg b'j} 7fpFdf a:g] hgfj/nfO{  n]v]df ! cª\s

5. PsbnLo la?jfsf] u'R5] h/f / b'O{bnLo la?jfsf] d'n h/f x'G5 jf cGo ;xL ljsNk n]v]df ! cª\s

6. tftf]kfgLdf s]xL a]/ sndnfO{ 8'afP/ jf cGo s'g} pko'St tl/sf n]v]df  ! cª\s

7.  k[YjLdf pko'St tfks|d ÷clS;hg÷kfgL ePsfn] n]v]df ! cª\s

Section C 

Marking scheme 

8. las/sf] d'v aGb gug]{, las/sf] lrqsf 5fof gkfg]{ jf cGo @ ;xL pQ/ n]v]df @ cª\s

9. 6]S:6 6'ndf lSns ug]{, To;l5 Sofgef;df 6]S:6 n]Vg'kg]{ 7fpFdf lSns u/L 6]S:6 n]Vg] n]v]df @ cª\s 

10. i. klxnf] lrqdf ePsf] pmhf{ k|of]u ePdf phf{ ;ª\s6 36\g], phf{ g;lsg] phf{sf] ;|f]t -gjLs/0fLo_ jf 

cGo pko'St sf/0f  n]v]df k|To]s sf/0fsf] ! cª\s sf b/n] hDdf @ cª\s

11. kv]6fsf] t'ngfdf z/L/sf] cfsf/ ;fgf] / xn'sf x'g] jf cGo s'g} ldNbf] k|ltlj|mof lbPdf k|To]s cj:yfsf]

! cª\ssf b/n] @ cª\s

12. xl/ts0f ePsf / cfˆgf] vfgf cfkm} agfpg ;Sg] hLjnfO{ :jkf]ifs elgG5 n]v]df   ! cª\s 

 xl/ts0f gePsf / cfˆgf] vfgf cfkm F} agfpg g;lsg] hLjnfO{ k/kf]ifs elgG5 n]v]df  ! cª\s  

13. ;f; km]g]{ lj|mofdf clS;hg lng] / sfa{g8fOcS;fO8 kmfNg] sfo{ x'G5 eg] Zjf;k|Zjf; lj|mofdf 

hLjx¿sf] z/L/df clS;hgåf/f vfB tŒj 6'j|mfO{ sfa{g 8fOcS;fO8, kfgL / zlSt lgsfNg] sfo{ x'G5

egL sf/0f n]v]df k|To]ssf] ! cª\ssf b/n] hDdf @ cª\s 

14. i.  UofF;sf] lglZrt cfsf/ / cfotg x'Fb}g .

     ii.  o;nfO{ vfFb\g ;lsG5 egL n]v]df. jf cGo ;xL pQ/ n]v]df k|To]s a'Fbfsf] ! cª\ssf b/n]   @ cª\s 

15. i.  ;"o{÷tf/f÷lah'nLaQL÷6r{nfO6 n]v]df ! cª\s

ii. lstfa÷9'ª\uf÷lunf;  n]v]df

! cª\s
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   jf cGo ;xL @ pQ/ n]v]df                @ cª\s 

16. gfª\uf] tf/nfO{ 6]k jf s'g} s'rfnsn] 5f]Kg], lah'nLsf] sfd ubf{ /a/sf] k~hf nufpg] jf cGo ldNbf] 

pko'St b'O{cf]6f pkfo n]v]df k|To]ssf] ! cª\ssf b/n] hDdf    @ cª\s 

Section D 

17. xfd|f] z/L/sf] 1fg]lGb|o cª\ux¿ sfg, cfFvf, gfs, lha|f], 5fnfn] sDKo'6/sf] OGk'6 l8efO;x¿ lsaf]8{, 

dfp; h:t} sfo{ ub{5 . dflg;sf] lbdfun] sDKo'6/sf] CPU n] h:t} k|f];]l;ªsf] sfd u5{ eg] xfdLn] 

b]vfpg] ls|ofsnfk÷k|ltls|of sDo'6/sf] cfp6k'6 l8efO; h:t} x'g\ egL n]v]df  @ cª\s 

xfdLnfO{ lzIfsn] k|Zg ;f]Wg'eof] / pQ/ n]Vg nufpg'eof] eg], k|Zg df}lvs ¿kdf ;f]w]df xfd|f] sfgn] 

OGk'6 l8efO;sf ¿kdf sfd u5{ . k|Zgsf] pQ/ s'g rflxF xf] eGg] lbdfun] sDKo'6/sf] CPU h:t}

k|f];]l;ª u/]/ pQ/ n]Vg nufpF5 . xfdLn] pQ/ sfkLdf n]Vg' cfp6k'6 xf] egL n]v]df @ cª\s 

18. 5fGg] ljlwsf] k|of]u u5'{ egL n]v]df ! cª\s

 kfgLdf c3'ngzLn df6f] lkmN6/ k]k/n] 5]S5 / kfgL lkmN6/k]k/sf] dl;gf] l5b|faf6 

l5/]/ las/df ;kmf kfgL hDdf x'G5 egL n]v]df ! cª\s 

 lbOPsf] lrq n]v]df  @ cª\s 

19. 

i. kl/kydf Aof6«L hf]8]/ l:jr cg ug'{k5{ egL n]v]df   @ cª\s 

ii. lbOPsf] lrq sf]/]df  @ cª\s 

20.

i. ;a}eGbf 7'nf] u|x a[x:klt / ;a}eGbf ;fgf] u|x a'w n]v]df  @ cª\s 

ii . Ps k'l0f{dfb]lv csf]{ k'l0f{df;Ddsf] cjlwnfO{ rGb|df; elgG5 egL n]v]df ! cª\s

iii . cf}F;Lsf] nuQ} cfpg] k"l0f{df;Ddsf] cjlwnfO{ z'SnkIf elgG5 egL n]v]df ! cª\s

ljlzi6Ls/0f tflnsfcg';f/ k|Zgkq lgdf{0f ubf{ k|of]u ug{ ;lsg] gd'gf r]sln:6 -Checklist-1_
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MCQ = Multiple Choice Question, VSQ =Very Short Question, SQ = Short Question and LQ = Long Question 
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